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JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
1 ALl H— 36 38 74 74. 0
2 JKGE- 37 37 74 74.0
3 HEES 37 38 75 75.0
4 fhHEETR 38 37 75 75.0
5 REhfT 38 38 76 76. 0
6 /NEFEE 39 38 77 77.0
T RE¥AT 38 39 77 77.0
8 HimEA 40 40 80 80. 0
9 fEAFn 39 42 81 81.0
10 BfEERZ 40 42 82 82.0
11 e 42 41 83 83.0
12 #%ERIER 45 38 83 83.0
13 fEHFX 39 44 83 83.0
14 BEIZF/A 47 36 83 83.0
15 HREH 41 43 84 84. 0
16 #HFEE 42 42 84 84. 0
17 fELEE 43 41 84 84.0
18 L HIEH 42 42 84 84. 0
19 FrEHRE 44 41 85 85. 0
20 EEJEEK 44 41 85 85. 0
21 BREFR 43 44 87 87.0
22 /NIFEN 45 43 88 88.0
23 KHBE 45 44 89 89. 0
24 WHARZE= 44 45 89 89. 0
25 [EFTEEEL4 47 42 89 89.0
26 BFEh 48 42 90 90.0
27 KA 46 44 90 90. 0
28 FERAEGE 48 44 92 92.0
29 AT — 46 46 92 92.0




